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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1.  
What is Dependent branch?
2. What do you mean by Stock Reserve?

3. What is Sacrificing Ratio?

4. What is Repossessed Stock?
5. From the following details, Calculate the net load goods sent, to branch:


Goods sent to branch (Cost to H.O) = `1, 80,000


Goods returned by branch to H.O


    = `25, 000


Goods are invoiced to the branch at cost plus 25%

6. From the following particulars, calculate closing branch debtors balance:


Branch Debtors (1-1-2008)


  ` 6,300


Credit Sales





` 39,000


Cash received from debtors

 ` 41,200

7. Apportion the following expenses on the basis of cost of goods sold ratio among the four department A,B,C & D:


Sales(`) : A: 2,00,000;  B: 1,50,000;  C:1,00,000;  D: 50,000


G.P. Ratio: 20% on sales.


Expenses:  Salaries `6, 000; Rent & Rates ` 1,500;    Insurance `1,300

8. There are two departments in a firm X and Y. Goods are transferred from Dept. X to Dept. Y at usual selling price, You are required to compute stock reserve on stocks of Dept. Y from the following Data:


G.P ratio of Dept. X : 25% on Cost


Opening stock of Dept. Y : ` 50,000


Closing Stock of Dept. Y :  ` 75,000

9. Raman purchases a motor car from Bharathan whose cash price is `56,000 on 1.1.2003. `15,000 is paid on signing the contract and the balance is to be paid in three equal annual instalments of `15,000 each. The rate of interest is 5% p.a.  Calculate the amount of interest included in each instalment.

10. A and B are partners in a business sharing profits in the ratio of 5:3. They decided to admit C into the firm giving him 1/6th share. Calculate the new profit sharing ratio and sacrificing ratio of the partners.

11. A, B & C are partners sharing profits in the ratio of 1/2, 1/3 and 1/6  respectively. C retires and his share was taken up by A and B in the ratio of 2:1. Find out new ratio.

12. What journal entries would you pass for the following assuming all assets and liabilities are already transferred to realisation account:

(a) Unrecorded asset realises `5000
(b) Unrecorded liability paid `3,000
(c) A liability taken over by partner ‘X’ `8,000.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. Explain the features of Dependent branch.

14. What are the advantages of Departmental Accounting?

15. Naga of Madurai  has a branch at Trichy.  Goods are sent by head office at invoice price which is at the profit of 20% on cost. All expenses of the branch are paid by head office.  From the following particulars prepare branch account in the H.O, showing goods at invoice price.                       

Opening balances                                      `

 


             Balances at the end         `
Stock at invoice price              
11,000   



     


  Stock at invoice 




Debtors




  

 


 
                                
  
                1,700

              price                          
13,000


Petty cash




     
                              
                  100          Debtors 

                           2,000


Goods sent to branch at invoice price

     20,000          Petty cash

                              25


Payments paid by H.O


Rent





    

                                                         600


Wages





     
   

                                                  200


Salary

 900


Remittance made to H.O


Cash sales




  


                                               2,650


Cash collected from debtors 


                 21,000


Goods returned by branch at invoice price 400

16. From the following particulars, prepare the departmental Trading and profit & Loss account for the year ending 31-12-2007

      Dept. X(`)  

        
Dept.Y(`)


Stock  ( 1-1-2007)



  














9,000

                8,400


Sales





                                               42,000        

     36,000


Purchases                                        




27,000

             21,600


Direct Expenses



                                5,490

               8,520


Postage




                                                 360

                  360


Stock (31-12-2007)



                          10,800

              4,800

 
Indirect expenses for the entire business was ` 3,900 which are to be divided in the            

         Proportion of sales of the two departments.

17.  
Mr. David purchased a machine on hire purchase system for ` 3,000 being paid on delivery and the balance in five instalments of ` 6000 each, payable annually on 31st December. The Cash price of the machine was ` 30,000. Calculate the amount of interest for each year. 
18. X and Y are partners sharing profits in the ratio of 3:2. They admit Z into partnership, Z paying premium of ` 2000 for 1 /4th share of profit. The new ratio is 3:3:2. Goodwill account appears in the books at `2000. Journalise.

19. P Q and R share profits  in proportion of 1/2 , 1/4 , and 1/4 . on the date of dissolution their balance sheet was as follows:

Liabilities


  







                       `

            Assets


                        `
Creditors

            


         14,000

      Sundry Assets

          40,000

P’s Capital                  


10,000


Q’s Capital


                 10,000

R’s Capital


                   6,000





                                           



 40,000




                                        40,000










The assets realised `35,500. Creditors were paid in full. Realisation expenses amounted to `1,500. 

Close the books of the firm.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.

20. A Bombay head office sent goods to Madras Branch at 25% profit over cost. From the 

following details, prepare the necessary ledger accounts in the books of head office under stocks  and debtors system.
 

    
    








                                                 
                                                  `



Opening stock of goods at branch at invoice price



       20,000



Goods sent to branch at invoice price                           



90,000



Loss of goods in transit at invoice price


                          6,000



Pilferage at branch at the cost of  branch


                        1,200




Closing stock at branch at  its cost to branch


                16,000



Sales at branch




                                                            1,05,000



Salaries and wages at branch




                                           6,000



Other expenses at branch




                                                 3,000





Madras branch received `4,000 from the insurance company in settlement of the claim for the loss of     goods in transit.
21. A firm had two departments, cloth and readymade garments. The garments were made by the firm itself out of cloth supplied by the cloth department at its usual selling price. From the following figures, prepare departmental trading and profit & Loss account for the year ended 31-3-2004.

 












                     Cloth Dept.
  





            Readymade Dept.

                             `




                                  `


                   Opening stock on 1-4-2003

                      
    

3,00,000

                      50,000



                   Purchases



                                                    
20,00,000

                      15,000



                   Sales




                                                            22,00,000

                   4,50,000


                   Transfer to readymade garment Dept.   


       3,00,000

                           --



                   Expenses – Manufacturing

                                 --


                            60,000
–  Selling 


       


                                  20,000

                        6,000

Stock 31 /3/2004


   







                                         2,00,000

                       60,000 


The Stock in the readymade garments department may be considered as consisting of  75%  cloth and                    

25% other expenses. The cloth department earned gross profit @ 15%   in 2002-03. General expenses 
of the business as a whole came to `1,10,000.

22. Mr. X purchased 4 cars for `14,000 each on 1-1-2002 under the hire purchase system. The hire purchase price for all the 4 cars was `60,000 to be paid as `15,000 down payment and 3 equal instalments of `15,000 each at the end of each year. Interest is charged at 5%. The buyer depreciates the car at 10% p.a on Straight line method.

From the above particulars give journal entries  in the Books of Mr,X  and in the books of hire vendor

23. The Balance sheet of A,B and C who were sharing profits in proportion to their capitals stood as follows on 31-03-2002.
       Liabilities

              `





               Assets



                                `


           Sundry creditors

      6,900

        Cash at bank

                      5,500


           Capital Accounts:



                     Sundry Debtors   5,000





                                    A   
20,000

        Less: Provision      100      4,900




                                    
B   
15,000

        Stock


          

                        8,000





                                    C   
10,000

        Plant & Machinery
            8,500








                                                            Land & Building
              25,000






                                          




51,900




                                                51,900









Mr. B retires and the following re – adjustments of the assets and liabilities have been agreed upon 

before the ascertainment of the amount payable by the firm to Mr.B.

(a) that stock be depreciated by 6%

(b) that the reserve for doubtful debts be brought up to 5% on debtors.

(c) that the land and building be appreciated by 20%

(d) that a provision of ` 770 be  made in respect of outstanding legal charges.

(e) That the goodwill of the firm be fixed at `10,800 and Mr. B’s share of the same be adjusted into  the accounts of A & C who are going to share in future in the proportion of five-eights and three – eights

(f) That the entire capital of the firm as newly constituted be fixed at `28,000 between A and C in the proportions of five - eighths & three-eighths, after passing entries in their accounts for goodwill (i.e., actual cash to be paid off to or to be brought in by the continuing partners as the case may be)

Prepare necessary ledger accounts to give effect to the above arrangements and prepare the balance  

sheet.
————————
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